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Schedule  for Summer Revision  
 

 
 

 

Instructions 

 

Every week you have three tasks to complete.  

Write the date and title in your book and complete work in your exercise book. Some 

tasks can be completed in the booklet. 

If you need to recap, use Hegarty clip numbers printed next to each topic. 

At the end mark your work using answers given. 

Then complete Hegarty tasks set by your teacher. 
 
 
 
 
 
 
 
 

 

 

 

 

 

 

Week Topics Hegarty 
clip  

Ѝ Pg 

 

Week 1 

Equations 179-185  3 

Hegarty Tasks ï set by teacher    

Sequences 198  7 

 

Week 2 

Hegarty Tasks ï set by teacher    

Shapes, parallel lines, angles 481-483  10 

Hegarty Tasks - set by teacher    

 

Week 3 

Statistics, sampling, averages 396,397,417,418  14 

Hegarty Tasks - set by teacher    

Perimeter and area 534-542  18 

 

Week 4 

Hegarty Tasks - set by teacher    

Volume and 3D shapes 568-572  22 

Hegarty Tasks - set by teacher    

Stretch Straight line graphs 205-213  27 

Hegarty Tasks - set by teacher    

Extra  task Transformation 637-658  32 

EXTENSION 

TASKS 

   39 
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WEEK 1 ï TASK 1 

Non-calculator 

 

Q1.  Which of these is a formula? 

A = 
1

2
(a + b)h           

1

2
(a + b)h            

1

2
(a + b)h = 210           

1

2
(a + b)h ¹ 

1

2
ah + 

1

2
bh 

 

 

 

 

Q2.  Here is a number machine. 

 

 Work out the input when the output is 11 

 

 

 

 

 

 

Q3.  The formula F = 1.8C + 32 can be used to convert between temperatures in  

degrees Celsius (C) and temperatures in degrees Fahrenheit (F). 

 Change 28° Celsius into degrees Fahrenheit. 

 

 

 

 

 

 

 

Q4.  Solve 5
7

t
=  
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Q5.  The graph shows the equation y = 2x + 1. 

 

 Use the graph to solve the equation 2x + 1 = 6.5 

 

 

Q6.  Amy has two older brothers. 

 Ben is 3 years older than Amy. 

 Chris is 10 years older than Ben. 

 The total of their ages is 73. 

 Form an equation and use it to work out Amyôs age. 

 

 

 

 

 

 

 

Q7.  Solve 4x + 5 = x + 26 
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Q8.  Make h the subject of the formula x = 5h + 8 

 

 

 

 

 

 

 

 

 

Q9.  Solve 5x ï 11 = 3(x ï 9)  

 

 

 

 

 

 

 

 

 

Q10.  The diagram shows a right-angled triangle. 

 

 All the angles are in degrees. 

 Work out the size of the smallest angle. 
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Topics listed in objectives 

¶ Select an expression/equation/formula/identity from a list;  

¶ Write expressions and set up simple equations including forming an equation from a word 

problem;  

¶ Use function machines; 

¶ Solve simple equations including those: 

¶ with integer coefficients, in which the unknown appears on either side or on both sides 

of the equation;  

¶ which contain brackets, including those that have negative signs occurring anywhere in 

the equation, and those with a negative solution;  

¶ with one unknown, with integer or fractional coefficients;  

¶ Rearrange simple equations;  

¶ Substitute into a formula, and solve the resulting equation; 

¶ Find an approximate solution to a linear equation using a graph;  

¶ Solve angle or perimeter problems using algebra.  

 

 

Answers 

Q1. A = 
1

2
(a + b)h 

Q2. 5 

Q3. 82.4 °F 

Q4. t = 35 

Q5. x = 2.75 

Q6. Amy is 19 

Q7. x = 7 

Q8. h = 
8

5

x-
 

Q9. x = ï8 

Q10. 37.5° 
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WEEK 1 ï TASK 2 

Non-calculator 

 

Q1.  Choose the best word to describe this sequence. 

 1 2 3 5 8 13 

 A    Sequence of odd numbers 

 B    Sequence of even numbers 

 C    Fibonacci sequence 

 D    Square numbers 

 

 

Q2.  Here are the first five terms of an arithmetic sequence. 

 14 11 8 5 2 

 Find the next two terms. 

 

 

Q3.  Here are the first four terms of a number sequence. 

 3 7 11 15 

 The 50th term of this number sequence is 199 

 Write down the 51st term of this sequence. 

 

 

Q4.  The nth term of a sequence is 7n ï 11. 

 Find the 50th term. 

 

 

Q5.  Here are the first four patterns in a sequence. 

 Each pattern is made from squares and circles. 

 
Pattern number 1  

 
Pattern number 2  

 
Pattern number 3  

 
Pattern number 4  

 Find an expression, in terms of n, for the number of circles in pattern number n. 

 

 

Q6.  Here are the first three terms of a sequence. 

 32 26 20 

 Find the first two terms in the sequence that are less than zero. 
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Q7. Here are the first four terms of a number sequence. 

3     9 15 21 

 Find the nth term for the sequence. 

 Use it to decide which of these numbers is a term in the sequence. 

 47 57 67 77 

 

 

Q8.  The nth term of a quadratic sequence is 3n2 ï 10 

 Work out the 5th term of this sequence. 
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Topics listed in objectives 

¶ Recognise sequences of odd and even numbers, and other sequences including Fibonacci 

sequences;  

¶ Use function machines to find terms of a sequence;  

¶ Write the term-to-term definition of a sequence in words;  

¶ Find a specific term in the sequence using position-to-term or term-to-term rules;  

¶ Generate arithmetic sequences of numbers, triangular number, square and cube integers 

and sequences derived from diagrams;  

¶ Recognise such sequences from diagrams and draw the next term in a pattern sequence;  

¶ Find the next term in a sequence, including negative values;  

¶ Find the nth term  

¶ for a pattern sequence;  

¶ a linear sequence; 

¶ of an arithmetic sequence;  

¶ Use the nth term of an arithmetic sequence to  

¶ generate terms;  

¶ decide if a given number is a term in the sequence, or find the first term over a certain 

number;  

¶ find the first term greater/less than a certain number;  

 

 

 

 

 

 

 

 

 

Answers 

Q1. C 

Q2. ï1, ï4 

Q3. 203 

Q4. 339 

Q5. 2n + 2 

Q6. ï4 and ï10 

Q7. 67 

Q8. 65 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



10 
 

WEEK  2 ï TASK 1 

 

Non-calculator 

 

[Q1ï2 linked] 

Q1.  Give the mathematical name of shape ABCD. 

 
 

 

Q2.  Use letters to name the angle marked x. 

 
 

 

Q3.  Give the mathematical name for this angle and estimate its size. 

 
 

 

Q4.  Work out the size of angle b. 

 

A B 

C D 

x 

A B 

C D 

x 
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Q5.  Find the value of y. 

 
 

 

Q6.  Work out the size of angle x. Give the reason for your answer. 

 
 

 

Q7.  The diagram shows three vertices of a square ABCD. 

 

 Find the coordinates of D. 

 

 

  

115° y° 
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Q8.  Work out the size of the angle marked x. 

 
Diagram NOT accurately drawn 

 

 

Q9.  The diagram shows two identical squares and a triangle. 

 Find the size of the angle marked x°. 

 
 

 

Q10.  ABC is a straight line.  

 AB = BD 

 Angle BAD = 25°  

 Angle BCD = 70° 

 Work out the size of the angle marked x. 
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Topics listed in objectives 

¶ Estimate sizes of angles; 

¶ Measure angles using a protractor; 

¶ Use geometric language appropriately;  

¶ Use letters to identify points, lines and angles;  

¶ Use two-letter notation for a line and three-letter notation for an angle;  

¶ Describe angles as turns and in degrees and understand clockwise and anticlockwise;  

¶ Know that there are 360° in a full turn, 180° in a half turn and 90° in a quarter turn;  

¶ Identify a line perpendicular to a given line on a diagram and use their properties;  

¶ Identify parallel lines on a diagram and use their properties;  

¶ Find missing angles using properties of corresponding and alternate angles;  

¶ Understand and use the angle properties of parallel lines.  

¶ Recall the properties and definitions of special types of quadrilaterals, including symmetry 

properties;  

¶ List the properties of each special type of quadrilateral, or identify (name) a given shape;  

¶ Draw sketches of shapes;  

¶ Classify quadrilaterals by their geometric properties and name all quadrilaterals that have 

a specific property;  

¶ Identify quadrilaterals from everyday usage;  

¶ Given some information about a shape on coordinate axes, complete the shape; Understand 

and use the angle properties of quadrilaterals; 

¶ Use the fact that angle sum of a quadrilateral is 360°; 

¶ Recall and use properties of angles at a point, angles at a point on a straight line, right 

angles, and vertically opposite angles;  

¶ Distinguish between scalene, equilateral, isosceles and right-angled triangles; 

¶ Derive and use the sum of angles in a triangle;  

¶ Find a missing angle in a triangle, using the angle sum of a triangle is 180°;  

¶ Understand and use the angle properties of triangles, use the symmetry property of isosceles 

triangle to show that base angles are equal; 

¶ Use the side/angle properties of isosceles and equilateral triangles;  

¶ Understand and use the angle properties of intersecting lines;  

¶ Understand a proof that the exterior angle of a triangle is equal to the sum of the interior 

angles at the other two vertices; Use geometrical language appropriately, give reasons for 

angle calculations and show step-by-step deduction when solving problems.  

 

 

Answers 

Q1. parallelogram 

Q2. ABC 

Q3. obtuse, 120° 

Q4. 140° 

Q5. y = 115° 

Q6. 112° 

Q7. (3, 1) 

Q8. 70° 

Q9. 100° 

Q10. 60° 

 



14 
 

WEEK 3 ï TASK 1 

 

Calculator 

 

[Q1ï2 linked] 

Q1.  Here is the number of goals a hockey team scored in each of 10 matches. 

 

 Find the median. 

 

Q2.  Use the data in question 1 to find the mode. 

 

 

 

Q4.  Ross rolled an ordinary dice 30 times. 

 The frequency table gives information about his results. 

 

 Find the median 
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Q5.  Mrs Smith gave her students a history test. 

 The bar chart shows information about the studentsô marks. 

 

 Work out the mean. 

 

 

[Q5ï6 linked] 

Q6.  The table shows some information about the foot lengths of 40 adults. 

 

 Write down the modal class interval. 

 

 

Q7.  Use the table in question 5 to calculate an estimate for the mean foot length. 
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Q8.  Tendai is doing a survey to find out how often people travel by bus. 

 She is going to sample 50 people in her town. 

 Choose the statement that describes the best way of selecting her sample. 

 A Choose 50 people leaving the local railway station. 

 B  Choose 50 people waiting at local bus stops. 

 C  Choose 50 people from the electoral roll. 

 D  Choose 50 people in the local shopping centre. 

 

 

Q9.  The table shows some data about the heights of 25 students in a class. 

 Boys Girls  

Mean 170 cm 164 cm 

Median 170 cm 164 cm 

Range 27 cm 31 cm 

 Use the data to compare the heights of the boys with the heights of the girls. 

 

 

Q10.  John is training to run in a 100 m competition. Here are his times. 

 10.3 11.5 11.6 11.4 11.3 11.2 11.7 19.3

 10.3 

 Which measure of average would you use to for Johnôs times? Give a reason for your 

choice. 
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Topics listed in objectives 

¶ Specify the problem and: 

¶ plan an investigation; 

¶ decide what data to collect and what statistical analysis is needed; 

¶ consider fairness; 

¶ Recognise types of data: primary secondary, quantitative and qualitative; 

¶ Identify which primary data they need to collect and in what format, including grouped 

data;  

¶ Collect data from a variety of suitable primary and secondary sources;  

¶ Understand how sources of data may be biased and explain why a sample may not be 

representative of a whole population;  

¶ Understand sample and population. 

¶ Calculate the mean, mode, median and range for discrete data; 

¶ Interpret and find a range of averages as follows: 

¶ median, mean and range from a (discrete) frequency table; 

¶ range, modal class, interval containing the median, and estimate of the mean from a 

grouped data frequency table; 

¶ mode and range from a bar chart;  

¶ median, mode and range from stem and leaf diagrams;  

¶ mean from a bar chart; 

¶ Understand that the expression óestimateô will be used where appropriate, when finding the 

mean of grouped data using mid-interval values; 

¶ Compare the mean, median, mode and range (as appropriate) of two distributions using bar 

charts, dual bar charts, pictograms and back-to-back stem and leaf;  

¶ Recognise the advantages and disadvantages between measures of average. 

 

 

Answers 

Q1. 3.5 

Q2. 3 

Q3. 40 

Q4. 3 

Q5. 12 

Q6. 22 Ò f < 24 

Q7. 21.9 

Q8. C 

Q9. The boys have a mean and mode of 170 cm and the girls a mean of and mode 164 cm, 

so the boys are taller on average and the boys have a range of 27 cm and the girls a 

range of 31 cm so the boysô heights are less spread out. 

Q10. Median: it doesnôt take into account the extreme value of 19.3 s. 
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WEEK 3 ï TASK 2 

 

Calculator 

 

Q1.  Choose the best estimate for the weight of a banana. 

 A  15 g 

 B  150 g 

 C  1.5 kg 

 D  15 kg 

 

Q2.  Mason is ill. 

 The diagram shows Mason's body temperature, in °C, on a thermometer. 

 

 Mason's body temperature drops by 1.2 °C. 

 Show Mason's new body temperature on the thermometer below. 

 
 

 

Q3. Fran is decorating her bedroom. 

She is going to put a border all around the bedroom. 

This diagram shows a plan of the bedroom. 

 

Border rolls are sold in 4 m lengths. 

Work out the number of border rolls Fran will need to buy. 
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Q4.  A room is in the shape of a rectangle, 5 m by 8 m.  

 Work out the area of the room in square centimetres. 

 

 

Q5.  Work out the area of the shape. 

 
 

 

Q6.  The diagram shows a rectangle and a triangle. 

 

 The perimeter of the rectangle is the same as the perimeter of the triangle. 

 Work out the length of the side marked x. 

 

 

Q7.  The area of this parallelogram is 48 cm2. 

 Work out the length a. 

 
 

 

  

8 cm 

2 cm 

4 cm 

9 cm 
x 
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Q8. ABDE is a rectangle.  

 ED is 8cm. 

 BDC is a right-angled triangle.  

 BC is 4.5cm. 

 ABC is a straight line. 

 

 The area of the rectangle ABDE is 40cm2.  

 Work out the area of the triangle BDC. 

 

 

Q9.  A factory makes 1500 cans per minute. 

 The factory makes cans for 8 hours each day. 

 Each can is filled with 330 ml of cola. 

 How much cola is needed to fill all the cans that are made each day? 

 Give your answer in litres. 

 

 

Q10.  Here is a diagram of Jim's garden. 

 

 Jim wants to cover his garden with grass seed to make a lawn. 

 Grass seed is sold in bags. 

 There is enough grass seed in each bag to cover 20 m2 of garden. 

 Each bag of grass seed costs £4.99. 

 Work out the least cost of putting grass seed on Jim's garden. 
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Topics listed in objectives 

¶ Indicate given values on a scale, including decimal value;  

¶ Know that measurements using real numbers depend upon the choice of unit;  

¶ Convert between units of measure within one system, including time and metric units to 

metric units of length, area, capacity 

¶ Make sensible estimates of a range of measures in everyday settings;  

¶ Measure shapes to find perimeters and areas using a range of scales;  

¶ Find the perimeter of  

¶ rectangles and triangles;  

¶ parallelograms and trapezia;  

¶ compound shapes;  

¶ Recall and use the formulae for the area of a triangle and rectangle;  

¶ Find the area of a trapezium and recall the formula;  

¶ Find the area of a parallelogram;  

¶ Calculate areas and perimeters of compound shapes made from triangles and rectangles;  

 

 

Answers 

Q1. B 

Q2. temperature at 37.3 °C 

Q3. 7 border rolls 

Q4. 400 000 cm² 

Q5. 32 cm² 

Q6. 7 cm 

Q7. a = 8 cm 

Q8. 11.25 cm² 

Q9. 237 600 l 

Q10. £34.93 
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WEEK 4 ï TASK 1  

 

Calculator 

 

Q1.  What is the mathematical name of this solid? 

 
 

 

Q2.  Change 27 000 cm3 to litres. 

 

 

Q3.  Here is a cuboid. 

 

 Work out the volume of the cuboid. 

 

 

Q4.  Here is a cuboid. 

 

 By rounding to 1 significant figure, estimate the volume of the cuboid. 

 

 

  

11.2 m 
2.4 m 

2.6 m 
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Q5.  Here is a triangular prism. 

 

 Draw a sketch of a net for the triangular prism. 

 

 

Q6.  The diagram shows a triangular prism. 

 

 Calculate the volume of the prism. 

 

 

Q7.  Here is a cuboid. 

 

 By rounding to 1 significant figure, estimate the total surface area of the cuboid. 

 

  

6.4 cm 

8.5 cm 

5.8 cm 
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Q8.  The diagram shows a triangular prism. 

 

 Work out the total surface area of the prism. 

 

 

Q9.  Here is a solid prism. 

 

 Work out the volume of the prism. 
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Q10.  Terry fills a carton with boxes. 

 Each box is a cube of side 10 cm. 

 The carton is a cuboid with 

length    60 cm  

width    50 cm  

height    30 cm  

 

 Work out the number of boxes Terry needs to fill one carton completely. 
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Topics listed in objectives 

¶ Convert between units of measure within one system, including metric units of volume and 

capacity e.g. 1ml = 1cm3;  

¶ Estimate surface areas by rounding measurements to 1 significant figure; 

¶ Find the surface area of a prism;  

¶ Find surface area using rectangles and triangles;  

¶ Identify and name common solids: cube, cuboid, cylinder, prism, pyramid, sphere and cone;  

¶ Sketch nets of cuboids and prisms; 

¶ Recall and use the formula for the volume of a cuboid;  

¶ Find the volume of a prism, including a triangular prism, cube and cuboid;  

¶ Calculate volumes of right prisms and shapes made from cubes and cuboids;  

¶ Estimate volumes etc by rounding measurements to 1 significant figure;  

 

 

Answers 

Q1. square-based pyramid 

Q2. 27 l 

Q3. 120 cm³ 

Q4. 60 m³ 

Q5. correct net 

Q6. 70 cm³ 

Q7. 288 cm² 

Q8. 660 cm² 

Q9. 1180 cm³ 

Q10. 90 boxes 
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STRETCH 

 

Non-calculator 

 

Q1.  Here is a function machine. 

x 

 

y 

 Use the function machine to complete these pairs of coordinates. 

 (12, __ ) and ( __ , 27) 

 

 

Q2.  

 

 On the grid above, draw the line x = 3 
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Q3.  Complete the table of values for y = 2x + 5. 

 Then draw the graph of y = 2x + 5 for values of x from x = ï2 to x = 2 on the grid. 

x ï2 ï1 0 1 2 

y 1  5 7  
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Q4.  This is the graph of y = 2x + 1 for ï2 Ò x Ò 5. 

 Use the graph to estimate the value of y when x = 1.4. 

 

 

 

Q5.  What is the gradient of the line with equation y = 4x ï 3? 

 

 

Q6.  Here are the equations of five straight lines. 

 Which of lines AïD is parallel to line L? 

 Line L  y = 2x + 4 

 Line A  y = ï2x + 4  

 Line B  y = 2x + 3  

 Line C  y = 
1

2
x ï 4 

 Line D  y = ï2x + 3 
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Q7.  Sketch the graph of y = ï
1

2
x + 2. 

 Show the coordinates of the intercepts with the axes. 

 

 

Q8.  Find the equation of this line. 

 
 

 

Q9.  Draw the graph of 4x + 5y = 20 

 
 

 

Q10.  A line has gradient 2 and passes through the point (3, 4) 

 Find the equation of the line. 
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Topics listed in objectives 

¶ Use function machines to find coordinates (i.e. given the input x, find the output y);  

¶ Plot and draw graphs of y = a, x = a, y = x and y = ïx; 

¶ Recognise straight-line graphs parallel to the axes;  

¶ Recognise that equations of the form y = mx + c correspond to straight-line graphs in the 

coordinate plane;  

¶ Plot and draw graphs of straight lines of the form y = mx + c using a table of values;  

¶ Sketch a graph of a linear function, using the gradient and y-intercept;  

¶ Identify and interpret gradient from an equation y = mx + c;  

¶ Identify parallel lines from their equations;  

¶ Plot and draw graphs of straight lines in the form ax + by = c; 

¶ Find the equation of a straight line from a graph;  

¶ Find the equation of the line through one point with a given gradient;  

¶ Find approximate solutions to a linear equation from a graph.  

 

 

Answers 

Q1. (12, 10) and (80, 27) 

Q2. line x = 3 drawn 

Q3. when x = ï1, y = 3; when x = 2, y = 9; correct graph drawn 

Q4. y = 3.8 

Q5. 4 

Q6. B 

Q7. sketch of graph of y = ï 
1

2
x + 2, with (0, 2) and (4, 0) marked 

Q8. y = 2x ï 1 

Q9. correct graph drawn, through (0, 4) and (5, 0) 

Q10. y = 2x ï 2 
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STRETCH 2 
 

Non-calculator 

 

Q1.  Here are some triangles drawn on a grid. 

 

 Two of the triangles are congruent. 

 Write down the letters of these two triangles. 

 

 

Q2.  Here is a shape drawn on a grid. 

 On the grid, draw an enlargement of the shape with scale factor 3 
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Q3.  Describe fully the single transformation that maps shape A onto shape B. 

 
 

 

Q4.  Describe fully the single transformation that maps triangle A onto triangle B. 
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Q5.  Describe the single transformation that maps shape A onto shape B. 

 
 

 

Q6.  Translate shape P by the vector 
5

2

å õ
æ ö
-ç ÷
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Q7.  On the grid, rotate the triangle 90° clockwise about (0, 1). 

 
 

 

Q8.  Reflect triangle A in the x-axis. 



36 
 

 
  



37 
 

Q9.  Describe fully the single transformation that maps shape Q onto shape P. 

 
 

 

Q10.  The smallest angle of a triangle is 25º  

 The triangle is enlarged by scale factor 3 

 Ben says, 

ñThe smallest angle of the enlarged triangle is 75º because 25 × 3 = 75ò 

 Is Ben right?  

 Explain your answer. 
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Topics listed in objectives 

¶ Identify congruent shapes by eye;  

¶ Understand that rotations are specified by a centre, an angle and a direction of rotation; 

¶ Find the centre of rotation, angle and direction of rotation and describe rotations fully using 

the angle, direction of turn, and centre; 

¶ Rotate and draw the position of a shape after rotation about the origin or any other point 

including rotations on a coordinate grid; 

¶ Identify correct rotations from a choice of diagrams; 

¶ Understand that translations are specified by a distance and direction using a vector; 

¶ Translate a given shape by a vector; 

¶ Use column vectors to describe and transform 2D shapes using single translations on a 

coordinate grid; 

¶ Understand that distances and angles are preserved under rotations and translations, so that 

any figure is congruent under either of these transformations; 

¶ Understand that reflections are specified by a mirror line;  

¶ Identify correct reflections from a choice of diagrams; 

¶ Identify the equation of a line of symmetry; 

¶ Transform 2D shapes using single reflections (including those not on coordinate grids) with 

vertical, horizontal and diagonal mirror lines;  

¶ Describe reflections on a coordinate grid;  

¶ Scale a shape on a grid (without a centre specified);  

¶ Understand that an enlargement is specified by a centre and a scale factor;  

¶ Enlarge a given shape using (0, 0) as the centre of enlargement, and enlarge shapes with a 

centre other than (0, 0); 

¶ Find the centre of enlargement by drawing;  

¶ Describe and transform 2D shapes using enlargements by:  

¶ a positive integer scale factor; 

¶ a fractional scale factor; 

¶ Identify the scale factor of an enlargement of a shape as the ratio of the lengths of two 

corresponding sides, simple integer scale factors, or simple fractions; 

 

 

Answers 

Q1. C and D 

Q2. Correct enlargement 

Q3. Reflection in x = 0 

Q4. Rotation of 90° clockwise about (0, 0) 

Q5. Translation by 
4

3

å õ
æ ö
-ç ÷

 

Q6. Vertices of translated shape at (4, 0), (3, 0), (3, ï1), (2, ï1), (2, 2), (4, 2) 

Q7. Vertices of rotated shape at (1, 0), (3, 0), (1, ï1) 

Q8. Vertices of reflected shape at (2, 1), (2, 4), (4, 4) 

Q9. Enlargement, centre (0, 0), scale factor 
1

3
 

Q10. No, the angle will still be 25°, as the enlarged shape is a similar triangle 
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Extension - Activities  
 
 
Week 1 
 
Pick any three -digit number.  

Reverse the digits, so write your number back to front.  
Subtract the smaller of your two numbers from the larger one.  

Now reverse the digits of the answer you get.  
Add the answer to its reverse.  

 
  7 2 3 

- 3 2 7 

  3 9 6 

+ 6 9 3 

1 0 8 9 
 

  8 5 6 

- 6 5 8 

  1 9 8 

+ 8 9 1 

1 0 8 9 
 

  3 9 2 

- 2 9 3 

  0 9 9 

+ 9 9 0 

1 0 8 9 
 

 

Choose some three -digit numbers of your own.  
(Make sure the first and third digits are different)  

Is there a pattern to all the answers?  

What is the same in each example?  

What is different?  

 
Does  every  example lead to the same answer?  

Can you use what you noticed in the video to prove it?  

https://nrich.maths.org/11014?utm_source=secondary -map  

 

 

 

 

 

 

 

 

https://nrich.maths.org/11014?utm_source=secondary-map


40 
 

Week 2  

Powers of numbers behave in surprising ways...  
 

Take a look at the following and try to explain what's going on.  
 
 

                     

 
 

 

What other surprising results can you find?  
 

 
https://nrich.maths.org/6401  

https://nrich.maths.org/6401
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Week 3  
 

 
 
Alison's cinema has 100 seats.  
One day, Alison notices that her cinema is full, and she has taken exactly 
£100.  

 
The prices were:  
 

Adults £3.50  
Pensioners £1.00  
Children £0.85  

 
She knows that not everyone in the audience was a pensioner.  
 

How many adults, pensioners and children were present?  

 
Start to think;  
What happens to the amount of money taken if an adult is replaced by a pensioner? 
Or a pensioner with a child? Or...?  
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Week 4  
 

 
 
https://nrich.maths.org/4793?utm_source=secondary -map  
 

 

 

 

https://nrich.maths.org/4793?utm_source=secondary-map

